A==
= 90km ©]c}

e
al
—

g
Ho

N

o

T

© A&
xkm =
y Al




® A(-2,0)
@ D(1, -4)

Sy

@ B(4, 0)
® E(4, -3)

® C(2, 2)



x 9 Jgj =7} oeat 28 of, (7
% Johof et




® (1, -4)F At
@ x ol ghol F7FetR y o] 7k F7HRteh,
B y = 4x 9] Iz} uhdct



O I =ZE 1 :*—40—4@\'() yA

Tstefet.
Ny




f(x) = =3x+2, g(x) = 5x—2 | tI5t] £(2)
+b o 27

® 8 ® 12 @ 14

=a,g4)=>b



7. FFy=ax+3ol st f(1) =1L o, £(3) & 27

D =2 ® -3 B -4 @ —¢ B -8



@) 4,7,10,13

® 4,6,10,12

® 0,2,4,6



= f(x) = x+ 1014 o] o) bseghol 1, 2, 3 & wl, x 9] Fh27

@123 ® -1, -2, -3 ®0,1,2

@0 -1, -2 ® 1.2



x9 ghol -1, 0, 1013, y o gko] —4,-1,2 & W, = T y7t x 9]
el 222
O y=2x @ y=3x-1

@ y=4x+2



?

LSS
.

olo] = A A, B Aol 9] A2

3 10

@ 4 B 6

D 2



12. x 9] gola,b,c, YO 30l a,b,c 4 M, (X,Y)E o] FX]= =442
ETSAEEIEY

B gl



13. AxFA I A HA,B,C
wol& ol

Y
A 4
™S 3
ofa
2 A\
1 -
I Fs ol Telr
B | -1




14. o2 5 A 4 AR

@ (-2, 0)
@ (-1, 6)

S Aol FHEE?

@ (5, 4)
® (-3, -3)

® (3, —-4)



A Ala, b)7F Al 4AF

15.

@ Q(a, —b) ® R(-a, b)

® P(b, a)

® K(-a, —-b)

@ S(b, —a)



16. xo W97F-2,-1,0,1, 29 o, y = —2x &] 1T =2

) @

yA yA
[5) 9]
| Z|
A: Aq;
7 0) z -2 | /IOl 1z
yA YA
D) 2
N
~N
Lo L
-2 10 T =2 O\
N
(5] 9
4] 4]
yl\
2
Ad:
-2 10 T
2




ax(a <0) 9] =39
Mt b<y< Al ab o UAE

a‘é*:ab:



ot [ ]

4x94 8=

E

Ty

yl\

B -10

@ -8



19. A P(a, b) 7hy = 9100 AL, y H&E7F 12 A W, a+ b 9] Fh2?

D 8 ® 10 3 12 @ 14 B 16



20. A A(a,-3)7 3 B(2,b) 7} y=ol tiste] gL

“FobH?
@ a=-2,b=-3 @ a=2b=3
® a=3,b=2 @ a=-3,b=-

® a=-2b=3



21.

S~

® (-3,-2)
@ (2,-3)

e YZ*JJﬂHHW

I‘IF




22. The TN Gy = ax. Oy ga} B w, b o] Y

e
&
S

I\DEOD
@

w?w
®

Do | o
@



23. & T T=
= wi91e] F o 51 2 a7t a
%, 42 1] Sy ) SERE
A e o
ey R R
J tyO] 1:; /\tx
’y/\].o1()”_ﬂ]1.—ﬁ]— .
‘_74121}21_
= JH=z=2

@
"
?¥> |
T |
@ _/
A —075
. @
® I yA
yA —O¥>
4 >
o =~




F(x)7F AAAZ x 0] eF5=0] A4 W), £ (28)

f(13) & &



7ot} 100g T 70g 2
uf

A or

()

12

@ 420kcal ® 270kcal

@ 600 kcal

3 105 keal

@ 360 kecal



